1. Express the repeating decimal as the ratio of two integers. Simplify if necessary. (10 pts
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2. Find the sum of the serlesL(,m NEn T2 (10 pts.)
9 - = &
Ba-NE+)  30-' Se+2
O
(31\—0 g'\'é“*L\A =9 E (
(Zn-‘X?n#?) Z - 3'*2'
2B+3A =0
2A=S =49 \
§A=-3 & if_’)“ Z(a\—\ e A
2A+A =G s \
:lM:(-é_.,._%«r z— 3/*-;/--2/*?5/‘3—
§A=3 AR K5z A& T i
B=-3

:\«\RA ..3. .
NS £ 3MF2



3. Find the sum of the series Z €77 or state that the series diverges and justify vour answer.
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4. Determine whether the given series converges or diverges. Justily your answer. (10 pls.)
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5. Determine whether the given series converges or diverges. Justily your answer. (10 pts.)
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6. Determine whether the given series converges or diverges. Justily your answer. (10 pts.)

i:s\/v'ul

4n | n?
n-l

i o] )

Sola L\Si:\s dm;_,-{- Conps SO N €5t - (30@53 n*

’)Tlﬂ)".l . B gdn+

BN ) o e Y e = Zen +n* 41!
n

NS sy G ] )
L S T S ¥ oo
C&O‘ 2

;\-;/z (onunr9es L} p—+est+ w/ p= 3,

Ha+n™

< —

)
,“Llﬂt: g
g‘-’ Sau.é Sbm <« Convwr 2§ '\‘)f}:;-g—' s @'_?_“
2 AT
(it (i )| T
A Nt




7. Find a Taylor series, at = — (), representation of the function f(z) = ”% (10 pts.)
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8. Determine the interval and radius of convergence of the power series, (10 pts.)




9. Find the value of the geomelric series or state that the series diverges and justify your

ANSWET. (10 pts.)
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10. Which of the following statements are true? Circle all true statements. (2 pts. each)

@lf ) a, converges, then "111):3“ a, = 0.
(b) If lim a, = 0, then »” a, converges.
n e
(c) If a, < b, and }_ a, converges, then ) b, vonverges.
Y 220 converges.
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